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McKeague/Turner Trigonometry 8e - Chapter 2 Form A

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Find the complement and supplement of the angle 55°.

a. Complement: 45° d. Complement: 1257
Supplement; 1457 Supplement: 305”

b. Complement: 125° e. Complement: 35°
Supplement: 35% Supplement: 1257

c. Complement:; 1457
Supplement: 2357

2. Lettriangle ABC be aright triangle with &= 90° If = =19 and @ = 6, find b.

a. . 13 d. 54013
b. 397 e. None of the above.
c. 13

3. Solve for x in the following right triangle:

2?10 X+4

PN W
@ O
(G2l
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4. Find the lengths of the shortest two sides of a 30° — a0 — 90~ triangle, if the length of the longest side is 16.

a. S d.
4, —— 4,
NE]
b. 4. 4,\5 e. 8

C. 8, EAJIE

5. Find the length of the shorter sides of a 45 — 45~ — 307 triangle if the length of the hypotenuse is 21.
& 3142 d 31,03
2 3
b 31./2 & 31,3
2

4
c. 21

2

e &
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6. Graph the following parabola.

N Ry X X T

B
T

None of the above.
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7. Find the distance between the two points (=5, 8) and (12, 53],

a. 102
b. 51
c. 48
d. 153
e. 99
8. Determine two coterminal angles (one positive and one negative) for &= —-503°,
a. 1277, - 233"
b. 307°,-413°
c. 127=, —323"
d. 217°,-143°
e. 217°,—-323"

9. Determine which of the following points is located in quadrant 4.
a. (—3, Tj d. (_7, - 3)

b. (3,-7) e (7.3)
¢ (-7.3)

10. Which of the following points lies on the unit circle?

a. F—T ﬂ]

1" 11

b. [ —4«5]
9

¢ [ —4«)‘3}
3

h
d. -3 _4N,"E
137 13

e. None of the above.
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: 3 . .
11. Given =:n30° = = and ce:30° = —— determine the following:

2

2| —

csc 30

a.
csc 30° =

cec 30° =

cec 30° =

- e sl =
e. undefined

EREE

12. Given the figure below, determine the value of sin &.

V-

(—3,-4)
a sinE?:—%
b siﬂ.-&?:%
¢ siné':—%
d Sﬁl-g:—;
¢ siné?zg
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13. The point (3,4} is on the terminal side of an angle in standard position. Determine the exact value of

cosé.
cosf= —3
b. cosd= %
© cosg= %
d cosf= —%
¢ cosf= %
14, Indicate the two quadrants & could terminate in if tan &= —%.
a. Quadrants Il and 1l d. Quadrants Il and IV
b. Quadrants | and Il e. Quadrants Il and IV

c. Quadrants | and IV

15. Evaluate s 300°.

a. —_1 d. _M.E
2 2
b. 1 e _AE
2 2
¢ A3
7
16. Find sin@ if csc@:'l—f.
a 4 d. 13
73 73
b. i e. —19
13 73
c. 4
73
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Af 1770 Af 170

17. Find tan & if sec &= = and csc &= 1
a7 d 7
11 170
b. 170 e 11
c. 7
11

18. If sm &= _T;S and & terminates in QlII, find oz &

a. -f d. —«J{E
7 49

b. -7 e.
w% T

¢ _71_
NES
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19. Suppose csc &=7 and & terminates in QII.

Find the remaining trigonometric ratios of &.

a. . 1 — 403
s &= = sin &= ;f_
4.3 1
cus§=? cnsé‘=§
tan G —) tan &= - 4/3
43 5
SECEI:_«."{_
sec5=L 43
4.f3 L
cot f= ——=
|:|:|t5=4»\n'r§ 4.3
b. . | . 1
smé‘=§ sm5=§
~4.f3 — 4.3
cos &= = cos 8= =
tan 6= - 43 P
4-f3
-7
sec H= .
4-J73 -
gec = ——
. 4.3
cot = ——
4.f3 cot 8= — 4.3
(o
} — 4,03
1 2= =
1
cusé‘=§

-7
o= —=
SEC 4,\;'?

cot &= — 4«;@
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20.

21.

22.

23.

If csc &=-11, find csc’ &,
a. 1,331 d -1
1,331
bh. -1 e. —1,331
33
c. —33

Use fundamental identities to simplify the expression below and then determine which of the
following is not equivalent.

sth afcsc & — sin &)

& 1-sin‘e
b. |:5|:2 a—1
csczﬂ
c. |:5|:2 a2 snau:2 .::E+tan2.::¥
cscz-::f
d _cot?a
e. 2

Cof &

Multiply; then use fundamental identities to simplify the expression below and determine which of
the following is not equivalent.

(sinx +cosx)(sinx —cosx)

a o sinzx — saczx — tanzx

. 2 2
S X—Cos X

b

C. l—Ecoszx
d csczx—cotzx—Ecoszx
e

1- Esﬁl[?—; —x] COSX

Which of the following is equivalent to the given expression?

-
sin®x
1—cosx

tanx +sinx
1+cosx

cecx +cotx
tanxcotx —cosx
cotxsinx +tanx

®oo0 o
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24. Simplify the expression A/ x*+13 asmuch as possible after substituting ~/13 tan & for x.

d. 'I'II3|CSI25| d. 13|ESE|§'|
b. .||'13|s]'n,§| e. 13|SEI:5'|

C. .J13 |sec &

25. Simplify the expression 30— fx* as much as possible after substituting AJ{E sin & for x.

a. 30csc & d. 30cos &
b /30 |esc 4| € .f30|cos &)
C. .Jil|tan &|
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Answer Section
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Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Find the complement and supplement of the angle 59°.

a. Complement:; 31° d. Complement: 149°
Supplement; 121° Supplement: 239°
b. Complement: 121° e. Complement: 121°
Supplement: 31 Supplement: 301°

c. Complement: 41°
Supplement: 141

2. Lettriangle ABC be aright triangle with &= 90%. If ¢ = 1% and « = 10, find b.

a. 9 d. ./las

b. .fa e. None of the above.
C. 3.2

3. Solve for x in the following right triangle:

7 58 X+4

N B O
® o
w o1
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4. Find the lengths of the shortest two sides of a 30° — 0" — 90~ triangle, if the length of the longest side is 24.

& 6, 63 d o, 12

NG
e 12, 12.f3

b 6
6, —
NE

c. 12

e

5. Find the length of the shorter sides of a 45" — 43~ — 90° triangle if the length of the hypotenuse is 17.
& 17,2 d 7.3
4 3
b 17./2 e. 17
2

P
4
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McKeague/Turner Trigonometry 8e - Chapter 2 Form B

7. Find the distance between the two points (=7, — 5} and (5, 11).

a. 40
b. 20
c. 17
d. 60
e. 37
8. Determine two coterminal angles (one positive and one negative) for &= —50&°,
a. 124° - 236°
b. 304° —416°
c. 1z24° —3=26°
d. 214° - 14&°
e. 214° - 326°

9. Determine which of the following points is located in quadrant 4.

a. (-6,-4) d. (4,-6)
b. (-4,6) e [-64)
c. (64)

10. Which of the following points lies on the unit circle?

,

%l -2
13° 13
:

b (7 21
1
e
-

“ g 210
il
.

d (7 zJw
15 15

kN

e. None of the above.
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: 3 . .
11. Given sin30° = % and cos30% = % determine the following:
tan 30°
& tan30°= 43
b. tan30°=1
C.

tan 30° =

tan 307 =

R

e. undefined

12. Given the figure below, determine the value of sin &.

512 W

i

V-

a smaz—%
b 51'.'r1-:5‘=1—52
¢ mE:%
d sm5:—1—52
¢ Smg:sz
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13. The point (5,12} is on the terminal side of an angle in standard position. Determine the exact value

of secé.
secd= 3
b. coc e =
© secd= =
d secd= —1—52
® seco= %

14. Indicate the two quadrants & could terminate in if tan &= —%.
a. Quadrants I and Il1 d. Quadrants Il and IV
b. Quadrants Il and IlI e. Quadrants Il and IV

c. Quadrants | and IV

15. Evaluate s 1507,

a. ﬁ d. 1
7 2
b. «E e. -1
7 2
C. _AE
2

16, Find sine if csc@:'l—lf.
a —17 d 2
19 19
h. -2 e. 2
19 17
¢ 17
19
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AJ 218 ~J 218

17. Find tan & if sec &= = and csc &= I3
a. 218 d. 7
a1 13
b. 13 e. 91
7 218
c. 7
13

and & terminates in QIV, find cos &.

18, If sin@= —
— NES

a. -6 d. fi
7 T
b. -7 e. «J{E
N 49
C. 7
NE
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19. Suppose csc &= 15 and & terminates in QII.

a -4
SLE= T

1 &
1
Cos él:E
4414
- 14

cot &= — 4«,:@

it = G
4./14
DSS:T
tan e — L
4714
15
gec f= ——
4.514
cot 2=4./14
c. . 1
smé‘=ﬁ
-4./14
cos &=
14
tan &= —4-J14
SEC &= - 15
414

1
t@= ——
co 4@

20. If csc &=-12, find csc’ &,

a -1
36

b. -1
1,728

c. -L723

© 2017 Cengage Learning. All Rights Reserved. May not be copied, scanned, or duplicated, in whole or in part, except for use as permitted in a license distributed

Find the remaining trigonometric ratios of &.

. _afn

st H= G

1
cos &= IG

tan5=—4'\.l"ﬁ

cot &f=-— 4@

e. 1,78
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21. Use fundamental identities to simplify the expression below and then determine which of the
following is not equivalent.

sth afcsc & — sin &)

2

o

1—sm” e
b. |:5|::2 a—1
c:su::z.::r
C. csu::2 &a— seu::2 a:'c.*+1:an2 &
cscg-ﬂf
2
1—cot™a
e. 2

Cof &

22. Multiply; then use fundamental identities to simplify the expression below and determine which of
the following is not equivalent.

(tanx + 1)2
a. tanz;{ +1
b. 2
sec”x + 2tanx

c. l+Z2smzcosx
2
cos x
tanzx +2tanx + 1

seczx(l +Z2snxcosx)
23. Which of the following is equivalent to the given expression?

.4
sin” x
1-—cosx

tanx + smx
1+cosx

cscx +cootx
tanxcotx —cosx
cotx stnx + tanx

®oo0ow

24. Simplify the expression ~Jx* +6 asmuchas possible after substituting «;'(Etan & forx.

a. flsec & d. dcsc &
b. . f6|sec &) e .Jfo|csc g
C. .f6|sin &
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25. Simplify the expression /70— 7x* as much as possible after substituting -~/ 10 sin & for x.

a. . f70tan 8| d. .f70|csc g

b. 'ITD ||:|:|s el e. 7|:||I:SI: 5‘|
C. Tlcos &
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Multiple Choice/Short Answer
Identify the choice that best completes the statement or answers the question/Use the space provided to write your answer.

1. Find the complement and supplement of the angle 54°.

a. Complement: 36° d. Complement: 144°
Supplement; 126" Supplement: 234"
b. Complement: 126° e. Complement: 126"
Supplement: 36 Supplement: 306~

c. Complement: 46°
Supplement: 1467

2. Determine two coterminal angles (one positive and one negative) for 8= —-457°.

3. Lettriangle ABC be aright triangle with &= 30" If - =1% and « = §, find b.

a. .13 d s5./13
b. .f3a7 e. None of the above.
c. 13

4. Solve for x in the following right triangle:

2710 X- 4

o1 o O
D O
~ oo
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5. Find the lengths of the shortest two sides of a 30° — 0% — 90* triangle, if the length of the longest side is 16.

a. S d.
4, —— 4,
NE]
b. 4. 4,\5 e. 8

C. 8, EAJIE

6. Find the length of the shorter sides of a 45 — 45 — 307 triangle if the length of the hypotenuse is 21.
& 3142 d 31,03
2 3
b 31./2 & 31,3
2

4
c. 21
2

e &

7. Given the figure below, determine the value of sin &.

Ay

N

Vi

(=3,
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8. Graph the following parabola.

None of the above.

e.

e S e e
i

e, T s

13
=8
T

e =

=tz

e

T4

e e e e )

e el
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9. Find the distance between the two points (-5, 8} and {19, 53},

a. 102
b. 51
c. 48
d. 153
e. 99

10. Determine which of the following points is located in quadrant 4.

a. (-63) d (-3-6)
b. (-3, ) e [6-3)
C. (3, ﬁ)

11. Which of the following points lies on the unit circle?

r

(s 4_»5]

13° 13
e

s
b. -7 4.2
11" 11
Y

s
“ s a2
3- " g
e

d. ’_7 —4«3'5}
5

g -

kN

e. None of the above.

3
L and cos30% = £ determine the following:

12. Given sm 30 =3 5

gec 30°
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McKeague/Turner Trigonometry 8e - Chapter 2 Form C

13.

14.

15.

16.

17.
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Indicate the two quadrants & could terminate in if tan &= ——

a. Quadrants Il and IV
b. Quadrants I and Il
c. Quadrants I and IV

Evaluate sin300°,

a. 1
d
b. _ﬁ
P
c. -1
2
Find sin & if coc 6= —o
1 = 17
a -2
19
b. -17
15
c. 17
19
4290
Find tan & if sec &= I
a. 11
13
b. 13
11
c. 2%
143

Multiply; then use fundamental identities to simplify the expression below and determine which of

the following is not equivalent.
(2—Zcosx (24 2cosx)

a 4 I::oszx
b. 4—4|:-::|52x
C. 4singx
d 4
2

csctx
e. !

1 +|::-::-t2x

and czc &

17
257

d. Quadrants Il and I
e. Quadrants Il and IV

d _./3
2
© A
2
d 2
17
e 2
13
_«,JE.'-T'EI
13
d. 143
290
e. 11
13
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and & terminatesin QIV, find cos &.

18. If sin &= =8
~f 89

o
|
R
®

[od

Lh|ca] ea]ln
o oo

19. The point (7,24} is on the terminal side of an angle in standard position. Determine the exact value
of sm&.
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20. Suppose csc &=7 and & terminates in QIl.  Find the remaining trigonometric ratios of &.

a. . 1 d. — 403
s &= = sin 6= —
4.3 1
cus§=? cnsé‘=§
1:E|11.:§J—L tané'—_—l
4-f3 4-f1
sec5=L sEC B= ——
4.f3 "WE
|:|:|t5=4»\n'r§ |:|:|té'=—4»\;'r§
b. . 1 e. . 1
smé‘=§ sm5=§
~4.f3 — 4.3
cos &= = cos 8= =
o =1 tan 6= - 43
4.3
-7
sec 8=
SEE|§'=_—T 3
4.3 o
cot = ——
cot 8= — 443 4.3
(o
} — 4,03
1 2= =
1
cusé‘=§
tan5=—4\l'r§
SEC &= —7
4073
cut§=_—1
4.03

21. If csc&=-14, find csc’ &,

a -1 d. —2,744
42

b. -1 e. —42
2,744

c. 2,744
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22. Use fundamental identities to simplify the expression below and then determine which of the
following is not equivalent.

st
e .;Eﬁ[ — .;z}]
a. secz.;b‘-'— tanz.;zf'
b. g2 i+ t:-:}sz.;iﬁ
C. cscz.;b‘-'— cotz.;t'
A cos? - sin” &
e. 1

23. Simplify the expression ~Jx*+ 11 asmuch as possible after substituting ~/11 tan & for x.

& 11 sec g d .11 sin g

b. 11|zec & e. 1ljcsc &

C. J1l|esc g

24. Simplify the expression ~{ 30— 10x* as much as possible after substituting Aﬁ sin & for x.

a. 30jcos & d. 30 [tan &)
b. |'3|:| |I2IIIS '9' €. 3|:||ESI3 é'l

C. .Jf30|csc 4|

25. Which of the following is equivalent to the given expression?

n:otzx

cscx+1
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Answer Section

1. A
2. 263° -497°
3. D
4, B
5. C
6. A
4
7. sind = 5
8. D
9. B
10. E
11. D
12, sec30® = g
13. E
14. D
15. B
16. B
17. A
18. D
. 24
19. sind= 5z
20. B
21. D
22. D
23. A
24. B
25. cscx—1

© 2017 Cengage Learning. All Rights Reserved. May not be copied, scanned, or duplicated, in whole or in part, except for use as permitted in a license distributed
with a certain product or service or otherwise on a password-protected website for classroom use.


https://testbanks.ac/product/9781305652224-TEST-BANK-5/

[CLI CK HERE TO ACCESS THE COVPLETE Test BanK

McKeague/Turner Trigonometry 8e - Chapter 2 Form D

Multiple Choice/Short Answer
Identify the choice that best completes the statement or answers the question/Use the space provided to write your answer.

1. Determine two coterminal angles (one positive and one negative) for 8= —-477°.

2. Find the complement and supplement of the angle 59°.

a. Complement: 121 d. Complement: 121*°
Supplement: 301 Supplement: 31°

b. Complement: 41° e. Complement: 31°
Supplement: 141° Supplement: 121°

c. Complement: 149°
Supplement; 2397

3. Lettriangle ABC be aright triangle with &= 1907, If =19 and & = 2, find b.

a. 17 d. 7
b. . 365 e. None of the above.
€ ~f357

4. Solve for x in the following right triangle:

2?10 X+4

F NGNS,
D O
N W
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5. Find the lengths of the shortest two sides of a 30% — &0% — 902 triangle, if the length of the longest side is 16.

a. d.
4, i 4,

NE]
b. 4 4,\;"5 e. 8.

C. 8, 8,\]@

6. The point (£,15] is on the terminal side of an angle in standard position. Determine the exact value
of cotd.

e e

7. Find the length of the shorter sides of a 45 — 45 — 90° triangle if the length of the hypotenuse is 17.
& 17.[3 d 7.0z
3 4
b 47.[3 & 7.2
2 2

c. 17
2

8. Given the figure below, determine the value of sin &.

Ay

N

L

(=3,
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10. Determine which of the following points is located in quadrant 4.

a. (64) d. (-6 4)
b. (—ﬁ,—4) e. (_4, ﬁ)
C. (4,-6)

11. Find tan & if sec &=

A} 530 A1 530

and csc &=

E— 13 19
a. 530 d. 13
247 19
b. 13 e. 247
19 530
c. 18
13

12. Which of the following points lies on the unit circle?

-

S I T
FRSE!
h
-

b7 241
150 15
e
-

S I I SV T
FRIY

d (9 210
30 13

.

e. None of the above.

. : 3 . .
13. Given sin30° = % and cos30% = % determine the following:

csc 30
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14.

15.

16.

17.

18.

Which of the following is equivalent to the given expression?

2
cos x
1+:amx

tanx +cosx
1—samx

cscx +cootx
tanx cotx — sinx
cotxcosx+tanx

® o0 o

Evaluate sin 240°,

a. ﬁ d. _Aﬁ
2

2
b. 1 e. ﬁ
2 R
c. -1
Z
. . - 21
Indicate the two quadrants £ could terminate in if tan &= TR
a. Quadrants | and Il1 d. Quadrants Il and 11
b. Quadrants Il and IV e. Quadrants Il and IV
c. Quadrants | and IV
Find sin & if cse 6= 2L
a. 13 d. 4
17 13
b. -4 e. 4
17 17
c. —-13
17

Multiply; then use fundamental identities to simplify the expression below and determine which of

the following is not equivalent.

(tanx + 1)2
a. tanzx +1
b. 2
sec”x+ 2tanx

c. l+Z2smzcosx
2
cos'x
tanzx +2tanx +1

seczx(l +2anzxcosx)

e
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19. If sin&= Fﬁﬂ and & terminates in QIV, find cos &.

a 7 d -7
55 Jas
b. @ e. -f
7 7
C. «,"E
49
20. Find the distance between the two points (=7, —4) and (41, 16).
a. 104
b. 52
c. 49
d. 156
e. 101
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21. Suppose csc &= 9 and & terminates in QII.

a.

© 2017 Cengage Learning. All Rights Reserved. May not be copied, scanned, or duplicated, in whole or in part, except for use as permitted in a license distributed
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1

smé‘=§

d.05
cusé‘=T

1
tan = ——
4'\."?

9
A —
. 4»\1'|.§

cot &= 4«;‘?
1

smé‘=§

a3

cos &= 3

—1
tan &= ——
4-f5

-9
= —F

cut@=—4£
_4.f3

a

it &=

1
cos &= 3

tan5=—4~."'g
ser H= — 7
4«_,1'5

-1

td= —7—
co 4£

Find the remaining trigonometric ratios of &.

d.

_43

st H= 3

1
cos &= 3

-1
tan 8= ——
4-f5

-9
seC 8= ——

4.5
cot &= — 4«;‘?

1

sm5=§
—4.f5
cos 8=
9
tan &= —4\1'?
sec = — ’
]
-1
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22. If csc 8=-12, find csc’ &,

a. 1,728 d. —-1,728
b. -3 e. -1
k]
c. -1
1,728

23. Use fundamental identities to simplify the expression below and then determine which of the
following is not equivalent.

sin &osc & — sin &)
2

1—sin™ o
csel - 1
I:sczcr
c. |:5|:2 a2 snau:2 .::.';’+1:an2 &
csczcﬁ
d. 1-cot®e
e. 2

Cos &

24. Simplify the expression ~Jx* + 10 as much as possible after substituting ~/ 10 tan & for x.

a. -I'II|:||I:SI:5'| d. 10|csc &)
b . f10sec g € /10 |sin &|
C. 10|sec &

25. Simplify the expression + 6 — 11x* as much as possible after substituting AJ{E sin & for x.

a. fffcsc &| d. 66 |csc &)
b. fifi|cas & e. l66 |cos &)

C. /66 ftan &|
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Answer Section

1. 243° - 117°
2. E
3. C
4, E
5. C
2
6. cotf= G
7. E
4
8. sind = 5
9. A
10. C
11. C
12. C
13, csc30° =2
14. B
15. D
16. B
17. C
18. A
19. A
20. B
21. B
22. D
23. D
24. B
25. E
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Multiple Choice/Short Answer
Identify the choice that best completes the statement or answers the question/Use the space provided to write your answer.

1. Use fundamental identities to simplify the expression below and then determine which of the
following is not equivalent.

C5C otan 24 sec @2
a. Ztang
st 2
b. cscosingo+sec ooos o
Cos 2
C. tanpcosge+smo
St QoS 2
d. 2singe
e. 2
Cos 2

2. Find the complement and supplement of the angle 59°.

a. Complement: 121° d. Complement: 41°
Supplement; 31° Supplement; 141°

b. Complement: 31° e. Complement: 1497
Supplement: 121 Supplement: 239

c. Complement: 121
Supplement: 301

3. Determine which of the following points is located in quadrant 4.

a (-3,-6) d. (-3 6)
b. (-4, 3) e (6-1)
C. (3, ﬁ)
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4. Which of the following points lies on the unit circle?

.
& (7 44z
11 1

9 2

b (4 4«5]
9

.
-

E]
5

2
g

d (s 4.f2
13

13°

kN

e. None of the above.

5. Lettriangle ABC be aright triangle with &'=30% If =19 and « = 2, find b.

d. 17
e. None of the above.

35

-1

a.
b.
C.

6. Determine two coterminal angles (one positive and one negative) for 8= —453°.
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7. Solve for x in the following right triangle:

47 5 X+4

(62 BN @)
® o
A~ W

8. Find the lengths of the shortest two sides of a 30° — 0% — 90% triangle, if the length of the longest side is 20.

10, 1043 d 5, 5.3
10, 2L & 5 2

A3 A3

¢ g 10

N

9. Given the figure below, determine the value of sin &.

b.

Ay

N

L

(=3,
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10. Indicate the two quadrants & could terminate in if tan &= —%.
a. Quadrants Il and IV d. Quadrants I and IV
b. Quadrants Il and IV e. Quadrants Il and I

c. Quadrants | and Il1

11. Evaluate =z 300°,

a. ﬁ d. ﬁ
2

2
b. -1 e.

e
2 z
C.

1
2

12. The point (&, 15} is on the terminal side of an angle in standard position. Determine the exact value
of coté.

13. Find sin& if cac e="3—31T.
a  f d. @
37 3l
b. -d e. 31
37 37
c. —-131
3T
14. Find tan & if sec &= Jflﬁ and csc &= @
a. 410 d. 17
187 11
b. 187 e. 11
410 17
C. 11
17
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15. Multiply; then use fundamental identities to simplify the expression below and determine which of
the following is not equivalent.

(2—Z2cosx)(24+2cosx)

R - cosgx
b. 4—4::052.1
C. 4sinzx
d 4
2

csctx
e. S

1 +|::-::-t2x

16. If sin &= m and & terminates in QlII, find cos &.
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17. Suppose csc &= 9 and & terminates in QIl. Find the remaining trigonometric ratios of &.

a. . | d . |
sin &= 3 st &= 3
—a4.5 05
cos &= NII{_ cos &= ——
g g
tan 6= — 4-/5 tan G

1
4-f5
4-)5 3

A= ——
) SEC 4\}@
cot = ——
4£ cot 5=4«;‘?
1

b. — 4.5 e. .
it &= ;f_ sn &= g
cos &= l cos 8= — 4’\“{?
Q 9
tanﬁ—_—l tané'—_—l
4S5 4-fs
secé‘=_—9 snau::¢5'=_—EJ
4.5 4.5
cut@=—4£ |:|:|t6'=—4«fr§
(o
} —4.)5
1 2= 3
1
cusé‘=§
tan5=—4\l'?
SEC &= =7
405
t:ut@—_—l
4.05

18. If csc &=-11, find csc’ &,

a. -33 d. -1,331
b. -1 e. 1,331
33
c. -1
1,331
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19. Find the length of the shorter sides of a 45* — 45 — 90 triangle if the length of the hypotenuse is 19.

a 10.f3 d. 18
—— Z

3 4
2
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20. Graph the following parabola.

N Ry X X T

B
T

None of the above.

e.

e ra

SRR RS ——— N

T2

ToS gt A R

e e o e o o e ke

e e

e

33

i

e

T

e

=tz

e

e
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: 3 . .
21. Given sin30° = % and cos30% = % determine the following:

tan 30°

22. Find the distance between the two points (%, 41 and (4%, 797,

a. 170
b. 85
c. 82
d. 255
e. 167

23. Simplify the expression ~Jx*+ 10 as much as possible after substituting ~/ 10 tan & for x.

a. |'1|:| |SEI2 éul d. 1|:||l:Sl: IE'l
b. 'll|:||si:t'1 8| e. 10|szec &)

€ J10|esc 4|

24. Simplify the expression ~/ 30— fix* as much as possible after substituting AJ{E sn & for x.

a. 30|csc &| d. 30jcos &
b /30 |csc g € .f30|cos &)
C. .f30[tan &|

25. Which of the following is equivalent to the given expression?

.2
sn“x
1—cosx

tanx + st x
1+cosx

cacx +cotx
tanxcotx —cosx
cotxsinx +tanx

®oo0 o
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Answer Section

67%,—93%

© N r~WDE
>M0LY> MW

. 4

sin & = 5
10. B
11. A

3
12. cotd= 15
13. C
14. D
15. A
16. A
17. E
18. D
19. C
20. B
. A3

21. tan3D —T
22. B
23. A
24. E
25. B
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Multiple Choice

Identify the choice that best completes the statement or answers the question.

following is not equivalent.

cot Szec &
a. 1
st 8
b. zec A
tan 3
C. 1
cos Stan &
d. sec S
e. csc

a. Complement: 45°
Supplement: 1457

b. Complement: 125
Supplement; 35

c. Complement: 145°
Supplement; 235

a (-5-6)
b. {6, -5)
C. (5, ﬁ]

7

a. ’_5 zw,rg
—

e

b. -5 —2»\}?

9 9

h

C. 3 EJE

T 7

h

d. ’_3 M@]

1" 11

.

e. None of the above.
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2. Find the complement and supplement of the angle 55°.

d. Complement: 35°
Supplement: 1257
e. Complement: 1257
Supplement: 305”

3. Determine which of the following points is located in quadrant 4.

d. (-6, 5)
e [-56)

4. Which of the following points lies on the unit circle?

1. Use fundamental identities to simplify the expression below and then determine which of the
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5. Determine two coterminal angles (one positive and one negative) for 8= —-526°.

6. Lettriangle ABC be aright triangle with &= 30" If - =19 and « = §, find b.

a. .13 d s5./13
b. .f397 e. None of the above.
c. 13

7. Solve for x in the following right triangle:

o © 00
D
-
o

8. Find the lengths of the shortest two sides of a 30% — &0% — 902 triangle, if the length of the longest side is 16.

a. d.

I

o T
©
I=
o R
] e B

4 1

4
=+
INE)

e. 8,
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9. Indicate the two quadrants & could terminate in if tan &= —%.
a. Quadrants I and I11 d. Quadrants I and IV
b. Quadrants Il and IV e. Quadrants Il and IV

c. Quadrants Il and 11

10. Evaluate sm240°,

&

o

ra | — |

[ M‘|-—~
"

11. The point (7,24} is on the terminal side of an angle in standard position. Determine the exact value
of cacd.

12, Findsine if csceﬁ':_l—?.
a -13 d 13
17 17
b. 4 e. —4
13 17
¢ 4
17

Af 4110 A1 4110

13, Find tan & if sec &= T and csc &= T
a. 11 d. 187
17 410
b. 17 e. 410
11 187
c. 11
17
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14. Multiply; then use fundamental identities to simplify the expression below and determine which of
the following is not equivalent.

(tanx + 1)2
a. tanzx +1
b. 2
sec x + 2tanx

Cc. l14+Zmmxcosx

2
Cos X
O tan’x +2tansx + 1
seczx(1+25inxu:osx]
15. If sin &= JE and & terminates in QIII, find cos &.
a. 11 d. -d
~J 157 11
b __f157 e. 6
121 1
c. il
157
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16. Suppose csc &= 7 and & terminates in QIl. Find the remaining trigonometric ratios of &.

a . 1 d . 1
st &= 3 it = e
—4.3 —4.f3
cos &= cos &=
7 7
tan 6= — 403 ol =
5 4~3
SEC &= _q
403 seC B= ——

cot f= ——
4.3 cot 8= — 4.3

1 &= = i1 &= =
1 1
cos &= 3 cos 8= 3
tan 6= — 43 o o1
4-f1
-7
sec &= N _
gec = ——
. 4.3
cot = ——
4,03 cot &= - 4.3
C. 1
st &= 3
4.3
cos &= —
tan 6= ——
4.3
7
seC B= ——
4.f3
cot &= 4«;@
. . 1 3 ) .
17. Given s 307 = 5 and cos30° = = determine the following:
gec 30°
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18. If czc &=-11, find csc’ &,

a. —33 d -1
33
b. -1 e. 1,331
1,331
c. —1,331

19. Find the length of the shorter sides of a 45% — 452 — 202 triangle if the length of the hypotenuse is 17.

a. 17 d. IT«E
2 B
R ]
3 4
]
4
20. Given the figure below, determine the value of sin 3.

Ay

N

L

(=3,
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21. Graph the following parabola.

N

e

D

T
T

T T
' ' .
! ! <)
! ! 3
i i o
' ' o
x o <
! ! @
1 1 =
1 1 =]
| i Y—
! ! o
oo gy s | e et )
| | c
| | S

Z

@
i H i i ] i i i i i i i
] 1 ] ] 1 1 1 1 1 1
i i i i i i i i i i
FEREA HEmERR ATTRRRRE: FREr R T FEmER AERER L RERRRE T i N 1 e p
1 ' 1 1 ' 1 ' ' 1 ' 1
i i i i i i i i i i
i i i i i i i | i i i
| V | | 1 1 | 1 1 1 |
' ' ' ' ' ' ' ' ' '
1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 i i i i i i 1
i gt A e g e SEGH L L 134 41 g 0 5
' ' ' ' ' ' ' ' ' '
' ' ' ' ' ' ' ' ' I
] 1 ] ] ] ] ] ] ] 1
R _ R e e _
.w. .w.w Am_~.u_ I = " .W; ;_”m " it o .._“r.,.
] I ] ] ]
' ' ' ' '
' ' ' ' I
] 1 ] ] 1
i i i i i
1 v 1 1 |
1 1 1 1 1
1 ' 1 1 1
e M MR U R R MR R L SRR
i ¥ i i 1
] 1 ] ] ]
' ' ' ' '
' ' ' ' I
] 1 ] ] 1
i i i i i
1 v 1 1 |
1 1 1 1 1
1 ' 1 1 1
e e s o] e e R e e e ] o Bt [ e e S L SR Rl R [ T
i i i i i
| V | | 1
' 1 ' ' '
1 1 1 1 1

o 3]
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22. Find the distance between the two points (4, 2} and {10, 107,

a. 20
b. 10
c. 7
d. 30
e. 17

23. Which of the following is equivalent to the given expression?

2
costx
1+smx

tanx +cosx
1—amx

cecx +cotx
tanx cotx —sinx
cotxcosx+tanx

®oo0 o

24. Simplify the expression ~/x* + 13 as much as possible after substituting ~/ 13 tan & for x.

a. M= |cst & d. 13|cec &)
b. "13|Si11 8| e. 13|zec &)

C. W13 |sec g
25. Simplify the expression ~J 30— fix® as much as possible after substituting AJ{E sin & for x.

& .f30|tan 8| d. . 30|csc g

b. 30jcsc &| e. 30cos &

C. .J30|cos 4|
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McKeague/Turner Trigonometry Chapter 2 Form F
Answer Section

1. D

2. D

3. B

4. A

5. 134° — 1667

6. D

7. D

8. E

9. E
10. E

25
11. cscf= 5a
12. A
13. B
14. A
15. C
16. D
17. sec30® = g
18. C
19. E
. 4

20. sind = 5
21. B
22. B
23. B
24, C
25. C
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